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Eighth-Grade Math

Please Show Your Work Where Required.

If you would like more practice, you may use MobyMax, Study Island, and IXL.

. Check : Check - Check
Day | Cumulative | whe Review of | wien Practice | when
Review Completed Conc Cpt Completed Compieted
1 :nﬂgiiogzgglfs Rate of Change Rate of
exponénﬁ; ] Change
2 ggﬂzrﬁgigpcfaﬁons Slope of a Line Slope of a
g line
3 | cawations, Equations Variables Equations
angles, iriangles on both sides V/both sides
4 | Dawatons, Special solution Eq. Sp. solution
5 |Boe Linear/Nonlinear Linear/Non
Transformations
6 I\)’;élll:;z} :;nghemm Eval. Functions Ev. Function
7 Slope, volume, functions Pyth Th. Converse Pyth Con.
g Linear equations Pyth. Theorem Pyth. Th.
Q | Linewr fonctions Equations Dis. Prop. Equations
10 za;ifsor;;?tﬁ)ﬁﬁm Scientific Notation Sci. Notation
11 gf:lfgin a;aic% sel. no. Translations Translations
12 ;l;r:tr;sversals, sci. mo. Reflections Reflections
13 iﬁg"c‘iﬂiﬁ;‘;’nﬁf“ﬁ Real Numbers Real No.
14 | S 4. & Cube Roots Sa/cube
15 Sg’?!wi;g:rean Theorem Solving Eq. Roots Eq. Roots
16 gg:;fomations Rotations Rotations
17 Functions Dilations Dilations
1 8 Properties of exponents Writing Eq / Graph Eq/ Graph
19 sﬁiﬁorem Theorem Comparing Function Com. Fun.
20 ggmﬁstr;zi;smg Triangle Sum Th. Transversals







Name:

Class:

8h Grade Cumulative Review Day é

Day 6

Day 6

Find the volume of the combined figure:

3t

Find the missing side length.

Use the Pythagorean Theorem to determine if a
triangle with side lengths 6ft., 6ft., 8ft. is a right
triangle.

In the cube below, how long is it from the
bottom corner to the opposite top corner (space
diagonal)?

4om

Draw a diagonal on the rectangle.

How long is the diagonal of the rectangle?

Find the volt:jme of the fig‘ure below:

w14 1T

How much bigger is the volume of the cylinder
than that of the cone?

A) {(513)! (218)! (_5!"1): (417)v (2!1)}
B) {(5!3)! (2!8)! (“5 “1)5 (4’7): (5!7)}
C){(5.3), (2,8), (-5,-1), (4.7), (-2,1)}
D) {(5’3)v (2'8)$ (__51_1)! (5!7)! (—211)}

Which relation is a function?

Find the volume of the figure below:

If y = ¥ax — 2, determine the value of y when
=-12

Find the slope between the following points:

(—5,2),and (3,9)

A school is selling T-shirts to students. It costs
$35 to create the design and $10 to print each
shirt. Write an equation in y = mx + b that
models this.
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Class: Date:

Example I: Evalugte each function.

a) Find y when x =2 given y =8+3x.

y=8+3(2)
y =14

¢) Find y when x = —4 given y = 2x".

y = 2(—4)2
y =32

Try: Evaluate each function.

a) Find y when x =-3 given y =-x+4.

¢) Find y when x = =2 given y =—x" 1.

Evaluating Functions

b) Find y when x =% given y = -6x.

e

y=-4

d) Find y when x =£ given y = Jx +1

=\/I+I
4 4

)/=

~o | W

b} Find y when x = ; given y =8x ~1.

d) Find y when x =27 given y = Yx -3,
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Function Notation — denofed by f(x), g(x), or h(x)
treated the same way as y

Example 2: Evaluate given f(x) =~3x+5 and g{x) = x*.

a) Find £, by Find f(--;)
(1) = =3()+5 f(__') _.3 (._i)+ 5
r(ly=2 3 3
f(-—l)a 6
3
&) Find g(-2). d) Find g(;)_
9(-2) = (~2)° g(é]z(z)“
9(-2)=-8 A
EA Y
(4) 64
Try: Evaludate given f{x) = H;x and g(x) = x* - 3.
a) Find f{-6) b) Find f(%)
c) Find g(i). d) Find g(-5)
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Name:

Class: ___ Ddfe:

For -6, evalugte given f(x) =5x +2 and g{x)=x" +3.

h 7(8)

2 1l

5) g(-4)

For 7-12, evaluate each function.

7) Find y when x =2 given y = 3x.

©

4; Evaluating Functions
Yoy L2

Practice

2} g(=0)

4y g(3)

&) 7(-2)

8) Find y when x =~ given y = x°.
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7) Find y when x =6 given y = —é—x+5 I0) Find y when x = ~2 given y = 5x* —I.

?

. 4
H) Find y when x = 7 given y = \/; [2) Find y when x = -4 given y = %x :

For 13-4, circle the error. Then correcily evaludte the function.

13} Find f(—;}r—) given f(x)=—-2x+2. (4) Find 9(3) given g{x)=-x*+5.
f AN 2 ! +2 9(3)=_32+5
4] 4 9(3)u‘l+5
Pl-t)an42 9(3) =1
4
[
fl-—|=4
4

I5} Select the option that does not belong given f(x) = 4x” and g{x) = %X“‘i‘. Justify your choice.

a 7(=2) b) g(40) c) f(2) d) g(ié)
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Name:

Class:

8th Grade Cumulative Review Day 7

Day 7

Day 7

What is the slope of the line?

o

81
Given the cone to the right, how much bigger
would the volume of a cylinder need to be for it
to be of equal height and equal diameter?

For which value of x is the relation nof a
, function?
{1,3),(5,2),(8, 0).(x, 6)}

A1l B) 6
O3 D)2

Determine the domain and range of the function
below:

x| -4 |32 7
y| W) -1|6| 10

In the graph to the right:
When x = 3, theny =

Wheny =2, thenx=

T

Write the slope intercept form of the graph
below.

i
EWNRL N RN BT
P E

Find the slope Bet-wéén-the 7fo|[(5wing points:

(~6,6),and (-6, —1)

Write the equation of a line in slope intercept
form that has a slope of —g and has a y-
intercept of 7.

Wirite the equation of the line in slope intercept
form.

LS
a5

Given the functiony = —2x — 9, what is the
corresponding value y whenx = —117

Find the vo!urr_i“e o} the éﬁﬁere below:

S

A tube is drilled out of a
rectangular prism. How much
of the prism is left?

Bl

Write the equation of a line in slope intercept
form that contains the points (1,—4) and (-5, 2).
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Name:

Weekly Math Review ~ Q3.7

Date:

Wednesday

Thursday

A tube is drilied out of a
rectangular prism. How much

of the prism is left? _
o

Find the volume of the sphere below:

am

~

Area:

Perimeter:

Graph the function onto the graph to the right.
x |—4] -2 ]

¥ i1-2;-1 1

Are you supposed to connect the dots?

Given the function f(x) = —2x — 9, what is the
corresponding value whenx = —117

if y = 4x — 1, determine the value of y when

7
=3

Circle a linear situation,

A) The area of a rectangle
B) The Volume of a pool

C) Buying songs at $1 each
D)y = 2x? + 5x

What is the slope of the line?

/""#
m s

Write the equation of a line in slope intercept
form of a line that has a slope of —Z and
contains (-4, 5).

Write the equation of a line in slope intercept
form that contains the points (1,—4) and (-5, 2).

The function y = ix + 3 is transformed by

shifting it to the right 8 units. What is the
equation of the new function?

The function y = —2x is refiected across the x-
axis. What is the equation of the new function?

Identify the transformation that changes
y = %x — 8 to the function y = gx - 8.

Identify the transformation that shifts y = x — 10
to the function y = x + 5.
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Name: . Class: Date:

% 7 Converse of Pythagorean Theorem
Y

Pythagorean Theorem Converse — hypotenuse

If the sum of the squares of the legs is equal fo the square
of the hypotenuse, then the friangle is a right triangle.

21 hi_pn? [ 1
a*+bi=c ledgs—> b
Example |: Determine whether the following side lengths could form a right friangle.
a) 8,6, 10 b) 4,58
7 ?
8% + 6" =10 42+ 5" =8
4 ?
64 +36=i00 |6+ 25=64
100 = 100 4164
Yes No

Iry: Determine whether the following side lengths could form a right friangfe.

a) 5,4,3 by 5,9, H
c) 10,13, 8 dy 12,5, 13
e) 8,17, 15 ) 2,3, 4

/=
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Pythagoredn Triples - whole number solutions to the Pythagorean Theorem

Common Exdamples — 3,4,5
512, 3
8, 15, 17
7,24,125

Example 2: Use the Pythagorean Theorem fo solve each problem,

A backyard fence is designed with side lengths 18, 24 and 30 feet. Show or expldin
whether the side lengths could form a right triangle.

7

18% + 242 =30"

.
3724 +576=900
900 = 900
Yes

Iry: Use the Pythagorean Theorem fo solve edch problem

a) A bookcase is shaped like a triangular prism. The friangular face has side lengths
4,37 and 2. Show or explain whether the side lengths could form g right triangle.

b) Three homes form a right triangle. Determine if the distances between the homes
form a Pythagorean triple. Show or explain how you know.

N N
36 meters
(5]
i
o
g
©
13
n
B

vy © Free to Discover (Amanda Nix) — 2017



Class: Date:

Converse of Pythagorean Theorem
Practice

For -8, determine whether the following side lengths could form a right friangle.

b 6,9, I

3) 2,20, 16

S) 13, 14, 18

7) 9, 10, I3

7) 14,8, 12

4y 25,24,7

6) 10,24, 26

8) 9,12, 5
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For 9-10, use the Pythagorean Theorem to solve each problem.

i

9) A children’s book has a diagonal of 10 inches. If the width of the book is 6 inches, are the
measurements of diagonal, width, and length a Pythagorean friple? Show or explain how you know.

[0) A modern painting is displayed in a triangular frame. The side lengths of the frame are 9°, 12”,
and 14" Is the frame in the shape of d right friangle? Show or explain how you know.

t) Select the set of numbers that does not belong. Justify your answer,

a) 3, 4,5 b) 5, 12, 13 ) 1o, I5, 25 d) 8 Is, 17

12) Landon and Bryson both completed their math homework. Is either student correct? Explain any
error(s).

Could the side lengths 15, 9, 12 form a right triangle?

Landon Bryson
7 T
152 £ 97 =172 12" 4+ 9* =|5?
7 1
225+ 8i=i44 44+ 81=2725
306 = 44 225=925
No Yes

ok © Free to Discover (Amanda Nix) - 2017
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12. Y A 13. YA
48 Ha
5
L bp [ >
4 x T x
m . ‘“ W
v v
n: b n b
Equation: Equation:
4. 15. 16.
-2 -1
0 0
2 1
4 2
nt b m___ b nr b
Equation; Equation; Equation:

17. Youare going on arcad trip | 18. A Basset Hound weighs 106 19. Your cell phone plan has a
with your family, You are pounds and is on a special diet flat rate of $30 each month.
already 30 miles into your to lose 4 pounds per month. For each text you send it
trip and the speed limit is 75 Let x represent the number of costs $0.20. Let x represent
miles per hour on the months passed and y the the number of texts that you
freeway. Let x be the number weight of the dog, send and y your total monthly
of hours from now and y be bill.
the total distance traveled,

nt: b: m b: . b
mn__ﬁmﬂmoa.. Equation: Equation:
mﬁm " mm ww“_h ::ﬂﬂm:w m_.m—._wv_, ,.AE__“ wm_”u_ Zuu_ m..u..ﬂ— mn"uﬂ.gna_mu shs. the
Lile Oifice of Educatio, Lismwed undee Creative Comman, ec-by.

Find, Fix, and Justify: In each of the following problems, 4 common mistake of writing the equation of a line

has been made. Describe the error and write the correct equation. E U

20, Incorrect Equation: y = 3x + 2

21. Incorrect Equation: v = 2x — 1

<;7 Ya
B AP
¥
\
« \ \ - N
al ¥ w | L
- X 4 x - o A0 X
B \ 3
A1
o 45
v v
Mistake; Mistake:
Correct Equation: Correct Equation:
22, Incocrect Equation: y = mH +4 23, Incorrect Equation: y = x + 2
Y 4 Y 'S
T &
5 v 2
w.
A Y i 'y
x = iy g h = Ll
x 3 me 10y - 3 D
. 5 H
A '
40 .m N,
w h 4
Mistake: Mistake:
Correct Equation:

Correct Equation:

©32614 University of Utph Midelle Schaol Muth Project in parinership with the
‘Utabi Siata Office of ducailan, Liconsed andsr Czoalive Cagunans, ca-by.
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Cldss: Date:

The Pythagorean Theorem

Pythagorean Theorem —

hypatenuse

TIf a friangle is right, then the sum of the squares of
the legs is equal fo the square of the nypotenuse. a

al+b?=c?

legs

Exdample |: Solve for the missing side length of edch right triangle. Round fo the nearest tenth, if
necessary.

Ci) a2+b2=62 b) ai_*_blmci
£ 5P+t =t 6% + b* =10
o 25+81=c? Q@@ 36 4 b% = 100
3 om 06 = ¢ / 36 -36
Jio6 = Jo* b =64
[03=c G mm L «ﬁ?:ﬁﬁ
103 cm b=8
8 mm

Try: Solve for the missing side length(s) of each right triangle. Round fo the nearest fenth, if
hecessary.

8 m

by O

/i
55

@ © Free to Discover (Amanda Nix) - 2017
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&m
&

Example 2: Draw a diagram, write an equation, solve, and answer the question.

A ladder leaning against a building is positioned 5 feet away from the base of the building
and redches 12 feet up the side. Determine the length of the ladder.

a*+ b = NI
;\. = SPei2t=cf B=c
= 1544 =c*  The ladder is I3 feet long,
69 =c*
5T

Try: Draw a diagram, write an equation, solve, and answer the question.

a) Car A fravels 30 miles per hour heading due west. Car B begins at the same location and
departs at the same fime fraveling 40 miles per hour due south. Determine how far apart
the cars will be affer one hour.

b) Televisions are sized by the length of their diagonal. If Gary has a 2-foot by 3-foot space
to fit a new tv, can he buy one that is 50 inches?

@ © Free to Discover {Amanda Nix) - 2017



Name:

4.9

Class: _ Date:

The Pythagorean Theorem
Practice

For -6, solve for the missing side length(s) of each right triangle. Round fo the nedrest fenth, if

necessary.
)
£ /"’\07
3)
}
8 mm
S)

2)
S
\v@
.
O mm
4)
=)
[&]
i
12 cm
7m
6) [ 1
0)&
(\,

s

© Free to Discover (Amanda Nix) — 2017



For 7-9, draw d diagram, write an equation, solve, and ahSWer the question.

7) A 20-foot upright utility pole has a support wire stemming from the top of the pole to a secure
position on the ground locafed IS feet away from the base of the pole. How long is the support
wire?

8) Train A fravels [8 miles per hour heading due east. Train B begins at the same station and
departs dat the same time traveling 24 miles per hour due north. Determine how far dpart the
rdins will be affer two hours.

9) Sarah lives S miles southwest of her school. To bicycle home she takes Mdin Street 2.5 miles due
south then she furns west onfo Pond Street and confinues riding. About how many miles does she
fravel on Pond Street before she redaches her home?

10) Circle the error. Correctly solve for the missing side length to the hearest tenth.

62 +19% = ¢t
% 36 4144 = o
/2 Cn? 80 = C2
Ji80 = e
34 ctn=¢

© Free to Discover (Amanda Nix} - 2017
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Ellen ran 1 mile in the last 10 minutes Samantha: v 2
3. Based on the information below, which hot water heater will use up the available hot water first? S ¥EEE
— Jason; Dale:
‘Water Heater A; Water Heater C: Distance Aawm”v
mﬁmﬁ.ﬁm ,w.:: 50 galions and drains 1.5 gallons + , Time Distance m..
& minu a.. {minutes) | (miles}
3 0.5 4
‘Water Heater B. 6 1
Time in Gallons 9 1.5
Minutes . W - 3
0 30 &
3
2 21.5 ,.w 2 prg
4 23 a 1 ot
=2 4 L
g - - ,
e > G 2 46 8101214161620 Tyme (minutes
Time in Minutes
4. Put the cars in order from fastest to slowsst. (Note variables: x = time in hours, 3= miles traveled.) 6. Use the representations below to answer the questions that folfow. (Note variables: x = time in weeks,
y = amount of money remaining.)
Car A Car D " Imiko starts with $60 and spends $2 per Henry: y = 80 — 5x
y=135x 100} week
20 Garek; Roslyn:
Car B: %0 _ Mangy Remaining
The Andersons completed 70 ﬁ:ﬁ >ﬁo§: of 100
the 24 mile trip to Salt Lake w (weeks) oney 86
. . S w0 Remaining a0
City in 30 minutes, m s w ww o
Car g 7 18 0
Time Distance 5 0® 40
(hours) {mileg) [a -1+ |
{ 30
0.3 18 10 20
2.5 S0 10
4 144 ) 1 2 3 4 R
Time (hours} 0 12345878 910 Yime(wesks
a. Who starts with the most money?
k. Who is spending his/her money at the fastest rate?
- c. Who will run out of money first at the current rate of spending?
7. Jack, George, Lucy, and Anna are playing games on their {Pads. The representations below show the
battery life remaining on each child’s iPad over time. (Note variables; x = time in hours, y = battery life
5. Put the runners in order from slowest to fastaBEN®E variablessamiimainenisules s mdnl eSa s 3WRBS - 89 2014 Univarsity of Utnh Mildlo Schoa sth Preject i prsteribip with he
Uinh Siate Offtee of Bduestioa, Licensed utder Creative Cammonn, ee-by,

Ulah Stala Oifice of Education. Liccused under Crealive Coron,
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Class: Date:

Solving Equations Involving Distributive Property

Reccili: Simplify edch expression.

a) 3(4x-1) b) %(e-no)() ¢) (-5x+8)3

d) Sx+7x-x &) 2x—6x f) —4(2x+9)+3x

Stens for Solving an Equation Involving Distributive Propetty and Combining Like Terms:

) Distribute (if possible).

2) Combine like terms {if possible).

3} Continue to solve.

Example |: Solve each equation. Show your work.

a) 5(2x+4)=30 b) 3x—9x =42
I0x +20 =30 —6x =42
-20-120 -6 -6
l0x =0 X ==7
o 10
¥ =
2
c) g(3;(.42).~ss,\/=-zo d) 4(x+1)-(5x-2)=3
9y _8-5x =~70 4x+4-5x+2=3
—3x—8=-20 ~X+6=13
+8 +8 =6 =6
3y ==12 =X ==3
3 _3 S -
vt x=3

@ © Free to Discover {Amanda Nix) — 2015
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Iry: Solve each equation. Show your work.

a) -3(x+l)=27 b) Sx-x=-52

) ~(2x+6)-9x-15 d) -2(x=3)-(x+8)=-2

Example 2: Use The Five-Step Method fo solve each word problem. Five-Sten Method
Deborah finds some beautiful frames af a craft store. They are
each marked $3 off. She buys 5 of them and spends $22.45. D Define the varigble.
Determine fthe original price of aframe, assuming they each cost
the same amount.

£ Write the equation,
x=origindl price of aframe

5(x-3)=22.45
=749 S Solve the equadtion.
Each frame was originally $7.49.
5(7'4q_3)f22‘45 A Answer the question.
22.45=22°45

C Check your answer.

Try: John and his mom are assembling “goodie bags® for his 8
friends to take home affer his birthday party. They fill each bag with the same amount of candy.
Based on the amount of leftover candy, they add an extra two pieces info edch bag. If there are @
total of 104 pieces used, how many pieces of candy were originally placed in edch bag?

© Free to Discover (Amanda Nix) - 2016



Name:

Class: Date:

49

Solving Equations Involving Distributive Property
Practice

For I-9, solve edach equation. Show your work.

2

) —S(e+2)=-20 2) 3(2a-5)-48 3) %.j—é_j=_~4
4) =-4b-12b 5) ~(-3f+1)+5=-32 6) -5(-2¢c-l)-c=123
7 %(‘id“?’)-w"‘ﬂ 8) 2(4h-5)+6(-h+2)=2 9 3(3g+8)-(4g+2)=37

© Free to Discover (Amanda Nix) — 2016
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I0) Louise has already purchased new books for edch her three children. Affer she buys them edach
one Mmore, she has purchased d tofal of IS books. Use the S-Step Method to determine how many
books she originally bought for each child, assuming they were edch given the same number of
books. ‘ '

I) Select the expression that does not belong,

a. f@x—m) b. 4¥~5-3
5

c. =2(-2x+l)-6 d. 2{2x-3)-14

12) Select the equation that does not belong.

a. 2(4x-1)=6 b 3x—T7x=4
c. 3@x+ﬂ=4 d x—-2x=-~|
3

13) Identify the error. Then solve the equation correctly.

-gﬁx-qma
3

-2x-4=8

+4 +4

=2x =12

-2 -2

X=-6

Ty
G

) ' © Free to Discover (Amanda Nix) — 2016



Name:

Class:

8" Grade Cumulative Review Day 10

Day 10

Day 10

What would be the coordinated of point J be
after a dilation of 2.57

H=-3.@ 511

el HH1,2)

......... Nl
-2, 18

A ftriangle with vertices (0,0), (5,3), (10,1) is
dilated with a center of dilation at the origin by a
factor of 5. What are the new vertices?

Find the missing angle:

Find the measure of £.A:
A

AAPE ~ATOM. In ATOM,
AT = 75°% and in AAPE &P, = 97°. Find the
measture of A M.

Extra Credit Problem

Write a similarity statement that -
matches these {riangles.

ldentify the relationship of 4x & £y (lines that

—

}',.

i

appear parallel are): i

Simplify using exponent rules

39
23 . 2° 25—

(5%)°_

Simplify using exponent rules

3x%2 - 3% 42x—2
4x
1 -3
3 — —_
@y z) —

Add the following. Write your answer in
standard notation.

62,591+ 7.1X107*

Divide the following. Put your answer in
scientific notation.

(77) + (4.9 X 105)

What two integers does V60 fall between?
A)7 and 8
B) 8 and 9
C)9%and 10
D) It's exactly 30

Which of the following numbers can be rewritten
as a fraction?

1 _
5.8,45,\/%,9.2,@

Place the following numbers on the number line.

(A)2.83,

(3)3%, (W16, (D)2.76, (E)V10

O /A FTwvsmasmsahs £ 8y
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Name: Class:____

Scientific Notation - notation used fo represent numbers that are redily large or really smail

Form: axI0’, where |<a <I0 and b is an infeger.

Example I: Convert belween scientific notation and standard form.

a) 35xI07 b) 7xlo™*
35,000,000 0.0007
(Move the decimal {Move the decimal
7 places fo the right ) 4 pldces to the left)
¢) 0.0086 d) 1,050,000
8.6x107° 105 x 10°

Try: Convert between scienfific notation and standard form.

a) 404xi07? b} S5xIo*

c) 250,000 d) 000007

) © Free to Discover {Amanda Nix} -~ 2015
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Example 2: Consider the data then complefe the fasks.
The population of Texas is approximately 30,000,000 people, and the population of Delaware is
approximately 1,000,000 people.
a) Represent the population of Texas as a number written in scientific notation.

3x10’

b) Represent the populdtion of Delaware as a number written in scientific nofafion.

| % 10°

¢) Determine how many fimes greater the population of Texas is compared to the population
of Delaware. Show or expldin your dnswer.

The population of Texds is about 30 times greater than the population of Delaware.
3 is 3 times gredter than I 107 is IO fimes greater than 10°. 3x10=30

Try: Consider the data then complete fhe fasks.
Venus is approximately 40,000,000 km from Edrth, and Neptune is approximately 4,000,000,000
km from Earth.

a) Represent the distance between Earth and Venus as a number written in scienfific
notation.

b) Represent the distance between Earth and Neptune ds a number wriffen in scientific
notation.

¢} Determine how many times gredfer the distance between Earth and Nepfune is compared
to the distance between Earth and Venus. Show or explain your dnswer.

Eh
(&
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Name: Class: Date:

Infroduction to Scientific Notation
Practice

For -9, convert between scientific notation and standard form.

b 5xlo? 2) 14,000 3)  0.006
4y 72xl0? 5) 105,000 6) 8xi0°
7) 0000404 8)  433xl0? 9) 920,000,000

For 10-12, consider the data then complete the fasks.

10) A zebra can reach a top speed of about 40 mph, and a sloth travels af a speed of about 0.2 mph.

Write each number is scientific nofation. Then determine how many times faster the zebra is.
Show or expldin.

Y
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I} Evelyn started an online business. The profif in yedr one was $300. Her profit {ast year was
$90,000. Write each number in scientific notation. Then defermine how many fimes greafer last
year’s profit was compared to her first year. Show or explain.

12) An architect builds a model of a new skyscraper. The height of The model is 0.4 m, and the height
of the actual building will be 200 m. Write edch number in scientific notation. Then defermine how
many times greafer the height of the actual building will be compared fo the model.

For 13-14, order from least to greatest.

13) 7x10%, 3x107, 7xi07%, 3x107

14} Sx107°, 5x10%, -5xI07, -5x10°

I5) Match each scenario with the appropriate value.

a) number of students in a school (#) I) 8xio”
___b) costof college ($) II) 6xI0?

c) value of coins found in a couch ($) I Ixlo*
_____d) populdation of atown (#) V) 2xl0°
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